Potencias de 10 (I)

1,143 = 100

4,693 = 100

0,852 +100

0,587 =100

5,649 + 100

8,583 =100

1,725 =100

1,643 = 100

9,404 = 100

0,872 =100

Calcule los siguientes cocientes.

5,395+ 100

3,604 =100

3,02+ 100

0,998 = 100

5,354 =100

5,965 +100

2,783 +100

4,74 =100

5,893 +100

0,832 =100
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Potencias de 10 (I) Respuestas

1,143 =100
0,01143
4,693 = 100
0,04693
0,852+ 100
0,00852
0,587+ 100
0,00587
5,649 = 100
0,05649
8,583 = 100
0,08583
1,725 =100
0,01725
1,643 = 100
0,01643
9,404 + 100
0,09404
0,872+ 100
0,00872

Calcule los siguientes cocientes.

5,395+ 100
0,05395
3,604+ 100
0,03604
3,02+ 100
0,0302
0,998 = 100
0,00998
5,354+ 100
0,05354
5,965+ 100
0,05965
2,783+ 100
0,02783
4,74+ 100
0,0474
5,893+ 100
0,05893
0,832+ 100
0,00832
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